Algebra 1 Bellwork  Tuesday, May 26, 2015

1. Simplify each.
a) (4+84/3)3-243) b) [20g'6h° - [12gh"
2. Rationalize this denominator. _14a’

J6a’b3

3. Do the three sides form a right triangle?

a) 16, 30, 34 b) 11, 60, 61

4. Find the third number in each Pythagorean Triple.

a) 84,85, b) 57, 176,

5. You sail your boat due South for 9.2 miles. Your brother sails his boat due East for 5.4 miles. How far
apart are you? Round to the nearest tenth.

6. Find the exact length of the missing sides of this right triangle.
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7. You have a ladder that is 12 feet long. Your cat is stuck 11 feet up in a tree. The bottom of the ladder
must be 4 feet from the bottom of the tree. Will the top fo the ladder reach the spot where the cat is

stuck?
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3. Do the three sides form a right triangle?

a) 16, 30, 34 b) 11, 60, 61
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4. Find the third number in each Pythagorean Triple.

) 84,85, /5 b) 57,176,_@05

5. You sail your boat due South for 9.2 miles. Your brother sails his boat due East for 5.4 miles. How far
apart are you? Round to the nearest tenth.
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7. You have a ladder that is 12 feet long. Your cat is stuck 11 feet up in a tree. The bottom of the ladder
must be 4 feet from the bottom of the tree. Will the top fo the ladder reach the spot where the cat is
stuck? P

\
A e / \je; ‘H“e lqAQ\zr oy }”éac,‘/\
ﬁ‘d*',;é;f j wp o (10D
" A \(] N i T
Hee
K2io= MY y= 113

b= [

XF+y =12




